


Q17. Consider the example
of finding the probability of
selecting a black card or a
6 from a deck of 52 cards.
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Out to 13 applicants for a job,
there are 5 women and 8 men. It is
desired to select two persons for
the job. The probability that at
least one of the selected persons
will be a woman, is-
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A. 25/39

B. 14/35

C. 5/13

D. 10/13



| D A'S ¥
\,'\e\N “O“e 32 OX card is selected at random from a
PYe \?aQ» standard deck of 52 cards. What is
the probability of selected card being
not a king?
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a.12/13
b.1/52
c.4/13

d.1/13



AOSAL\number IS selected at random
from the numbers 29, 30, 31, |,
47, 48. what is the probability that
the selected number is not a prime
number.
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a. 2/5
b.7/10
c.4/5
d.3/10



\G\N “O 36 @&/()L\o)ﬁces are thrown simultaneously.
P(e\’ Pag What is the probability that the sum of
the numbers appearing on their tops

Is at least 97?
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a.l/4
b.2/9
c.5/18
d.1/6



